| Arithmetic Sequences: | [ Aritmetic Series: |

Explicit Formula: ~ t, = t; + d(n-1) Siama Nt S t, + d(n-1)

Recursive Formula: . = first term L
tn = tn-1 5 d

Sum of n terms: Sn= 5 (tr + tn)
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Answer SASS - problem #2

Below are some possible "rules" to model this situation

Explicit Formula

Recursive Formula

Exponential Function
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aisn't 3500 because in an
exponential equation a
represents the y-int (x=0) and
not when x=1( the 1st night).
You can find a by using the
point (1,3500) which is the
revenue on the 1st night.

RS06 = 0\(0.7)'
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a= 5600

C; = Soso (o .7)X




